8 | 7 | 6 | 5 ¥ 4 | 3 | 2 | 1

415.30 mm 1.80 mm 1 N
‘E?:S?s”?n"} F [16.350 in] . [0.071 in]

SECTION CC-CC

‘[Ifé.é’:gomn} 3.18 mm
DD = - n [0.125 in]
4

r—

457.20 mm
[18.000 in]

cc

450.85 mm
[17.750 in]

cct

RM1U1918SBK

Extruded Aluminum Frame - Type 6063

2 Panels - .064" Aluminum (5052-H32) Powder Coat (RAL 7032)
L 2 Mounting Brackets - .125" Aluminum
— - ] J 16 Screws - Flat Head 4-40 x 3/8"
DD~ 48561 mm ) 8 Screws - Counter Sunk Head 6-32 x 3/8"
[19.000 in] " SECTION DD-DD 4 Screws - Counter Sunk Head 10-32 x 3/8"
ASSEMBLY - VIEW FROM TOP HANDLE 16 Nuts - #4 Sp%d Nuts
31.75 mm R3.18 mm .
[1.250 in] MOUNTING \ / [0.125in] 457.20 mm 4 Four Self Adnhesive Rubber Fest - 142173

HOLES [18.000 in]

| ACCESSORES
) o :|

[} o o

@® )

PULL HANDLES 1427B2BK

4y

; REAR BRACKET KIT| RM1U18BRKT
6.35 mm 4.37 mm

[0.250 in] a66.01 mm [0.172 in] L ‘[‘13:390”?33 H _,-11 M M{:l N D

366,01 mm ASSEMBLY - VIEW FROM SIDE MANUE‘ICTUEING wl,

ASSEMBLY - VIEW FROM FRONT Enclosures can be Factory Modified ( Milling, Drilling, Printing etc. )

Contact Factory mjm@hammondmfg.com for quotes RM 1 U 1 9 1 SSBK

Solid models of this enclosure available in STEP or IGES. ww ammandmig.com

8 7 6 I 5 LP 4 I 3 I 2 I 1




